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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe bacterial growth curve in detail. 

cSDVhfj;k ds o`f) oØ dks foLrkj ls le>kb;sA 

2. Draw a labelled diagram of TMV (Tobacco Mosaic 

Virus). What is the function of tail fibres and tail pins 

of a bacteriophage. 

Vkscsdks ekstsd okbjl (TMV) dk ukekafdr fp= cukrs gq, 

cSDVhfj;ksQst ds Vsy Qkbcj ,oa Vsy fiUl ds dk;Z crkb;sA 

3. What is an Antigen ? What is the difference between 

an antigen and an immunogen. 

,aVhtu D;k gSa \ ,aVhtu ,oa bE;wukstu esa vUrj dhft,A 

4. What is organ transplant ? Define autograft. 

vax izR;kjksi.k D;k gS \ vkVksxzk¶V dks le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define the term antimicrobial agent. Name three broad 

spectrum antibiotics. 
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,aVhekbØksfc;y ,atsV dks le>krs gq, rhu O;kid LisDVªe 

,aVhckWfMt ds uke nhft,A 

2. What is fermentation ? What is the difference between 

fermentation and putrifaction ? 

fd.ou D;k gS \ fd.ou ,oa lM+us dh izfØ;k esa D;k vUrj 

gS \ 

3. Reproduction in bacteria. 

cSDVhfj;k esa iztuu le>kb;sA 

4. Give contribution of Louis Pasteur and Robert Koch in 

Microbiology. 

lw{etSfod foKku esa ywbZ ik’pj ,oa jkWcVZ dksp dk ;ksxnku 

nhft,A 

5. Discuss polymerase chain reaction. What are its 

applications ? 

ikWyhejst Ük`a[kyk vfHkfØ;k dks le>krs gq, blds mi;ksx 

Hkh crkb;sA 

6. What is the difference between Gram positive and 

Gram negative bacteria ? 

xzke&/kukRed ,oa xzke&_.kkRed cSDVhfj;k esa vUrj dhft,A 

7. Give names of at least five pathogenic bacteria and the 

diseases they cause. 

ik¡p iSFkkstsfud cSDVhfj;k ds uke nsrs gq, muls gksus okys 

jksxksa dks le>kb;sA 

8. General properties of prions and diseases prouced by 

them. 

fiz;kWUl ds lkekU; y{k.k nsrs gq, muls gksus okys jksx 

le>kb;sA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj p;u dhft, % 

1. Causative agent of cholera is : 

(a) Escherichia coli 

(b) Vibrio cholera 

(c) Clostridium tetani 

(d) Klebseilla pneumoneae 

dksysjk dk mRiknu dkjd gS % 

¼v½ bZ- dksykbZ 

¼c½ fofcz;ks dksysjk 

¼l½ DyksfLVªfM;e VhVsuh 

¼n½ yclsyk U;weksuh 

2. Bacteria whose optimal temperature for growth is 37°C 

are known as : 

(a) Mesopiles 
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(b) Psychropiles 

(c) Thermopiles 

(d) None of the above 

ftl cSDVhfj;k dk òf) ds fy, vf/kdre rkieku 37° gksrk 

gS] og dgykrk gS % 

¼v½ ehlksikbYl 

¼c½ lkbØksikbYl 

¼l½ FkeksZikbYl 

¼n½ mi;qZDRk ls dksbZ ugha 

3. Generation time of E. coli is : 

(a) 20 seconds 

(b) 20 minutes 

(c) 20 hours 

(d) 20 days 

bZ- dksykbZ dk tujs’ku le; D;k gS \ 

¼v½ 20 lsd.M 

¼c½ 20 feuV 

¼l½ 20 ?k.Vk 

¼n½ 20 fnu 

4. Who discovered Mycobacterium tuberculosis ? 

(a) Louis Pasteur 

(b) Adward Jenner 

(c) Robert Koch 

(d) Paul Ehrlich 
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ekbdkscSDVhfj;e V~;wcjdqyksfll dks fdlus [kkstk \ 

¼v½ yqbZ ik’pj 

¼c½ ,MoMZ tsuj 

¼l½ jkWcVZ dksp 

¼n½ ikWy ,jfyp 

5. Aquisition of naked DNA by a bacterium from its 

environment and incorporation in its genome is known 

as : 

(a) Transformation 

(b) Transduction 

(c) Lysogenic conversion 

(d) Conjugation 

cSDVhfj;k }kjk vius okrkoj.k ls vftZr Mh- ,u- ,- tks 

vius thukse esa lekos’k gksrk gS] mls dgrs gSa % 

¼v½ VªkWUlQkWeZs’ku 

¼c½ VªkWUlMD’ku 

¼l½ ykblkstsfud duotZu 

¼n½ dkWUtqxs’ku 

6. Plasmids which do not possess information for self 

transfer to another cell are known as : 

(a) Conjugative plasmids 

(b) Cryptic plasmids 

(c) Non-conjugative plasmids 

(d) F-plasmids 
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,sls IykfTeM tks nwljh dksf’kdk esa ifjorZu gksus dh lwpuk 

ugha nsrs gSa % 

¼v½ dUT;wxsfVo IykfTeM 

¼c½ fØfIVd IykfTeM 

¼l½ ukWu&dUT;wxsfVo IykfTeM 

¼n½ F-IykfTeM 

7. Stem cells arise from : 

(a) Yolk sack 

(b) Foetal liver 

(c) Bone marrow 

(d) All of the above 

LVse dksf’kdk,¡ mRiUu gksrh gaS % 

¼v½ ;ksYd lsd ls 

¼c½ QhVy fyoj ls 

¼l½ cksu eSjks ls 

¼n½ mi;qZDr lHkh ls 

8. Natural killer cells are involved in : 

(a) Allograft rejection 

(b) Tumour rejection 

(c) Non-specific killing of virus transformed target 

cells 

(d) All of the above 

uspqjy fdyj lsy fyIr jgrs gSa % 

¼v½ ,yksxzk¶V fjtsD’ku esa 
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¼c½ V~;wej fjtsD’ku esa 

¼l½ okbjl ds ukWu&LislhfQd fdfyax tks VªkULkQkeZ gksrs gSa 

VkjxsV lsy rd 

¼n½ mi;qZDr lHkh 

9. Which of the following vaccines should be 

administered at the birth of the child ? 

(a) BCG 

(b) DPT 

(c) Measles 

(d) All of the above 

cPps ds tUe ds le; dkSu ls Vhds ,MfefuLVMZ gksus  

pkfg, \ 

¼v½ ch- lh- th- 

¼c½ Mh- ih- Vh- 

¼l½ ehlYl 

¼n½ mi;qZDRk lHkh 

10. Leprosy can be aquired by a susceptible person by : 

(a) Skin to skin contact 

(b) Respiratory tract 

(c) Both of the above 

(d) None of the above 

ysizkslh ,d laosnu’khy O;fDr ls dSls izkIr gksrk gS \ 

¼v½ fLdu ls fLdu ds laidZ esa vkus ls 

¼c½ ‘olu ra= ls 

¼l½ mi;qZDr nksuksa ls 

¼n½ mi;qZDr esa ls dksbZ ugha 
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